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. The OMR Answer Sheet is inside this Test Booklet. When
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. The test is of 1% hours duration and consists of
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PART II / 9T II

MATHEMATICS / wifora

26. A trader marks his items by increasing the |26. U& UUR 379t ETEBﬁ 9 25% HoI SgIh

price by 25%. If he gives 4% discount on the
marked price, what will be his gain
percentage ?

(A) 10% (B) 15% 3
C©) 20% (D) 25%

ﬁ%ﬁmélaﬁa’gaﬁﬁq@mmw

ST 2, A 3T AT Wiywe fher & 2
) 10% B) 15%
AC) 20% (D) 25%

27. The sum of three numbers is 392. The ratio of 27. é‘\':" mgﬁ Gy zﬁm 392 % | qggﬁ qe @-ﬁ

first and second number is 2 : 3 and that of
second and third number is 5 : 8. Then the
first number is

(A) 120 (B) 60
(C) 100 (D) 80

HET H I 2 : 3 R AR gEA awr dwd
HAT HI UG 5: 87 | A RS G B

A 120 (B) 60
(C) 100 AD) 80

28. The largest four-digit number which can be -~ .
divided by 24, 30, 36 each is 28. SR 37t H TH-AAL TN S 24, 30, 36 F J

(A) 9360 (B) 9960
(C) 9840 (D) 9620

29. If the mean and coefficient of standard

eI 4§ famfor &), s @ o

~(A) 9360 (B) 9960
(C) 9840 (D) 9620

deviation of a set of data are 10 and 5 29, qﬁm%ww%mw ﬁ(mﬁw

respectively, then the standard deviation of

T A 10 3R 5 &, arwe ¥ Tg W

the data set is
T fomem g
(A) 50 (/
T @A) 50
e B) 5
L © 1
(D) 10 D) 10
80. If x°+ i = 23, then the value of x* + i
x2 ' x* |30. zrf"c:x2+i2=23€f,a‘rx4+—1z$rm%
is X X
(A) 429 (B) 629 (&) 429 (B) 629
(C) 527 (D) 526 (C)r- 527 v i=c (D) 526
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Suresh and Sandeep are partners in a
business. Suresh puts ¥ 5,000 for 5 months

~ and Sandeep puts ¥ 6,000 for 6 months in the

business. At the end of the year how much
amount will Sandeep receive from a total
profit of ¥ 610 ?

(A)
©)

¥ 410 (B)

(D)

< 380

T 400 T 360

Two numbers are in the ratio of 3 : 5 and their
LCM is 300. The smaller number is

(5)

31. HW q¥ HEY TH FaE™ § N F |§bﬁ
5 U1 % foTT ¢ 5,000 a1 G619 A 6 118 &+ forw
T 6,000 STGHE § ST | 99 & 3F{d A T 610

% HA A T F T I e firem 2
(A) T 410 (B) ¥ 380
(C) ¥ 400 D) T 360

32. aé@mﬁ'aﬂaﬁm 3:5 8 3 ITh1 @YW
aEed (LCM) 300 8 | B H&AT 8

i o 50 (A) 75 “®) 60
©) 90 (D) 45 (© 90 (D) 45
The value of \/15612+ \/154+ V225 18 \/15612+ /154_,_ J225 &1 9H %
(B) 125 C By 125 v~
(© 99 C) 99
(D) 110 (D) 110
The average of l
n,(n+1),n+2),n+3),n+4),n+5) 34. n,(n+1),m+2),n+3),n+4),n+5) ’é
is e % o
29
A ' ‘?S J ]
(A) (m+2) (A) (n+2) e
Iy
(B) 3(2n+5) (B) 3(2n+5) [%, “Flff:?_'
\
b © n+2 T
(D) [n H ﬂ 5 =
4 @ [n i } Lindiresultin whatsapp - 9352018749
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85. If 1is added to the denominator of a fraction, | 35. zr% foreft fEs e 71 Trﬁ'gl I %, a1 = —;- ;
" 1 :
the fraction becomes . If 1 is added to the 2 S 2 P [ ¥ H 1 Gﬁ@l S %’ ar
numerator, the fraction becomes 1. The sum of Ay 1 B T 32 R ¥ oW S T AT
numerator and denominatdr of the fraction is 3 >
/

MR A B) 5 @A) 21 % Sl
(C) 13 (D) 14 @ 11 G i

36. Three‘ ('hfferent co.ntamers co?taln different 3. o AR qmEt & S fm et % 2 S
quantities of a mixture of milk and water, <o 3 fo 3 S T 5
whose measurements are 403 litres, 434 litres % 403 2 43% it
and 465 litres. What biggest measure 3f 465 T 2 | 3@,-@-‘6@ LEAGIE ﬁ) Kl
(in litres) must be there to measure all the AT =M R wh fmfE HEe @l
different quantities exactly ? ‘gﬁ'ﬂ'&T AT ST Feh ?
@A) 41 (B) 31 A 41 «B) 31
(€ 70 (D) 51 ©) 70 (D) 51

37. 1720 sweets were distributed equally amongst | g7. 720 ﬁrorrszﬁ =1 o SUE-SUs 3 B C 1l
the c:uldren. in dS1Lch a8 w}::y ;:lhladt Fhez':)l;mb:i }(:f St & F6 qor T 51 fireht et &1 e
sweets received by each child 18 » of the 5 !
total number of children. How many sweets i I . K 20({” * &t 2
did each child receive ? v a= =1 e frareat o 2
A 11 A 1
(B) 15 (B) 15
(€) 12 © 12 Y T
R % (D) 14

38. The smallgst number by which 512 is 38. @ SHIBA sen B 512 a Tom FO W
multiplied so that the product is a perfect cube Tﬁ 3 3
s e Tﬂ\q;i T T
A) 8 (B) 9 @A) 8 L S
(©) 10 D) 7 () 10 D 7 ,
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39. 36 men can complete a piece of work in|39.

18 days. In how many days will 27 men :
complete the same work ?

(A) 22 (B) 12

(C) 18 (D) 24

40. A sum was put at simple interest at a certain
rate for 2 years. Had it been put at 3% higher
rate, it would have fetched ¥ 300 more. The

‘sum is
(A) % 5,000
\’\0
(B) ¥ 5,400 © Q:\
575
(©) ¥ 5,300 /
(D) T 5,500

41. A, B and C are shareholders in a company. i
a certain year A got %rd share of the profit,
B received ith share and C got ¥ 5,000. Then

how much profit did A get ?
(A) ¥ 1,000 (B) < 4,000
(D) < 5,000

(C) ¥ 3,000

42. The height of an equilateral triangle whose
each side is 4 cm, is

\/gcm

®* (C) 343 em

(A) (B) 243 em

(D) 4y3em

40.

42.

36 =t T W 1 18 FF F qU H TR 2 |
o7 =afth 3t w™ @i fohaq foa & U =4 2
e G

D) 24 =

A 22
(C) 18

e gORT ETRe S W 2 Nt % fo R
Affe @ W @ o ? | A W 3% TER AW
o T, @ T 300 A W B | AR R

AK) ¥ 5,000 “

(B)
©
(D) ¥ 5,500

T 5,400

T 5,300

A, B 3R ¢t Frrl § e (STURE) ¥ |
et weh o § A I AN % it firet, B
%mﬁw,aﬂtcaﬁis,oooﬁﬁ | q9 AS
fepen e fire 2 | o~
f )Sa

T 4,000 é

T 5000 R
5(

e wwTg Fge 1 S o vt R v

e 4 Tt B 2

J3 wft

343 ot

b/@

(A)
5}) T 3,000

¥ 1,000 (B)

(D)
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The lengths of the three sides of a triangle are |43. T |§§GI 1 ot H'Gﬂi}ﬁ E3) e

35 cm, 40 cm and 45 cm respectively. The 35 Qt, 40 Y qAT 45 T 2 %I‘ﬂﬁl ATHA

approximate area of the triangle will be ‘@TIT T =

(A) 67882 cm? 4) 678-82 T2

(B) 760-82 cm? (B) 1760-82 T2

(C) 67082 cm? ©) 670-82FH2 "

(D) 76282 cm® (D) 76282 &I

44.

45.

Raghu travelled 1200 km by air which formed
—i—th of his trip. %rd of the whole trip he

travelled by car and the rest of the journey he
did by train. The distance travelled by the
train is

(A) 1800 km
(B) 480 km
(C) 1600 km
(D) 800 km

Vit

A researcher has collected the following
sample data :

5,12, 6,8,5,6,7,5,12,4,1
The median is
(A) 6
(C) 8

(B) T
(D) 5

If the sides of a triangle are in the ratio of
3: 4 :5 and its area is 216 sq. cm, then the
perimeter of the triangle is

44. Igﬁmooﬁ:nﬁmm‘@‘éméa&ﬁa’r
maﬁﬁwm maﬁlwﬁ?ﬁrmaﬂ

%mwmw@mm_mmaa

# | T g ot T Tmn A gl 8
(A) 1800 fere :

(B) 480 foet

SO 1600 Terd

(D) 800 ferHty_—

w Myl 3 Frefafaa gfes stesl &)
wshiad foma
'5,12,6,8,5,6,7,5,12,4, 1:

- /
TTfeehT 3
Ay 6L
(C) 8

45.

B) 7
(D) 5

46, Iz T T H S H AT 3 : 4 : 5
3 3T &Fwd 216 1 Tt B, @ By =

IRATT BFT  jdiresult.in whatsapp - 9352018749

(A) 76cm (B) 84cm 4) 76 gt (B) 84@H
(C) 80cm (D) 72cm () 8o&H 4Dy 72uH
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47.

48.

49.

50.
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The LCM and HCF of two numbers are 520

and 4 respectively. If one of these numbers is
52, then the other number is

(A) 40
~(B) 42
(C) 50
(D) 52

The most frequently occurring value of a data
set is called as

(A)
(©)

(B)
(D)

mode mean

median range

The average age ‘of 15 students in a class is
15 years. Among this the average age of
5 students is 14 years and the average age of
9 other students is 16 years. The age of the
15th '

(A)
(B)

student is
14 years

11 years

© 15% years

(D) 15 years

The area of a rhombus is 500 cm? and the
length of one of its diagonals is 25 cm. Then
the length of the other diagonal is

(A) 20cm
(B) 50cm
. 40ch)m. IRESULTE
(D) 30cm

(9)
417.

48.

49.

50.

amaﬁmagquaai(wmszo%aﬁt
37T e GEIEdE (HCF) 4 % | Afg = &
T EE 52 B, 1 gEd el B

(A 40—

(B) 42

(C) 50

(D) 52

T GYE F e i FRAR AW I °H
TSGR
T
(C) wIfERl

e
qiE

(B)
(D)

et e & 15 Tt & oftwa g
2 | = @ 5 fyenfiEt 6t oftwa g 1 43&%
quT 3= 9 TNt i siea g 16 99 7 |

B) 119§ \\)\XS

9 5 o 1 (o)
© 15=a8 ¥

7 \Qﬁﬁ
(D) 1599 9~

% Eegys H SEeel 500 S @ SN T
w Tt i g 25 At B | W gE ferehl
&1 Twag Bl

A7 20 BHI

B) 503
(C) 40wt

(D) 30 Bl indiresult.in whatsapp - 9352018749
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51. When was Quit India Movement started by |51. miefish 3 WRa E@I@T A< Ha IE fora
Gandhiji ? a1 ?

(A) 1940 (B) 1942 (4) 1940 /K 1942 |~
(C) 1945 (D) 1946 (C) 1945 (D) 1946

52. The most important cause for the outbreak of |52. 7Y Shifed 3TTTFY Eﬁ %1 ged @ SR =1

the Ghadar revolution was the a1 ?
(A) outbreak of World War I (A) wum fova gg s g9 L
(B) hanging of Kartar Singh Sarabha (B) R &g Tusn 1 widl =cil
(C) Komagata Maru incident f) SHIFFTIAT HIE Tl
(D) arrest of Lala Har Dayal /(D) e gLeaTe sht TR
53. Which of the following is an important o FE 20 S ﬁ'{?-l?\g s W

function of spinal cord ?

(A) Transferring substances Ay S8

(B) Control respiration (B) _vergd fmm .
(C)  Control of reflex actions /<C)/ et fsramett &1 fmo
(D) Pumping of blood (D) Th &1 994 :
54. IR H A HEBA TA W H &
54. Which amongst the following has the power to - 3 s ol N - -
remove the Vice-president from his post before 35
the completion of his tenure ? feptreh 9TE 2 ° "

(A) TS 8w
(B) I=d" IAEI

(A) Rajya Sabha

(B) Supreme Court -
(C) President M
(D) Lok Sabha ' _AD) W w , |
55. Frofefaa # & e wwiash oftvy & w9 7

55. Which one of the following is employed as a

tranquilizer drug ? T R S @ 2
(A) Glucose (B) Ampicillin (A) THIE B) -YfEfafeH
(C) Aspirin (D) Valium ey dfere (D) aferm _—
56. Mohiniattam dance form is associated with |56. Tifgftergn T w9 Frafofed 3 ERETRE I
the following state : TEg B ? »
(A) Odisha (B) Kerala (A) 3fssm B) FA L—
. (C) Karnataka (D) Tamil Nadu By s (D) R TS
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57.

58.

59.

60.

61.

62.

%7

@

(C)

IN

oOuUR

(4.

National Income is also called

(A) NDPyp (B)  NDPpc
(C) NNPyp (D) NNPpe
The Badminton Championship -  Swiss
Grand Prix Gold was won by on

15 March, 2015.

(A) K. Srikant

(B) Abhimanyu Singh
(C) Sameer Verma
(D) Saina Nehwal

Kabini, Hemavati and Amaravati are the
tributaries of the river

(A) Mahanadi
(B) Krishna
(C) ~Cauvery
(D) Godavari

The prominent women freedom fighter who
participated in the first freedom rebellion of
1857 was

(A) Kasturba Gandhi
(B) Bhikaji Cama
Sarojini Naidu

(D) Begum Hazrat Mahal

is the distance between any two
nearest particles of the medium, vibrating in
the same phase.
(A) Wavelength
(B) Frequency
(C)
(D)

Velocity

Amplitude
model proposes urban

infrastructure and services be provided in

rural hubs to create economic opportunitieé

outside cities. ;

(A) Mahalanobis

(B) PURA

(C) Gandhian

(D) LPG

IRES

SUCCESS PARTNER

57. TS A ! TH: F7 A€ 2

(A) NDPyp MDPFC‘

(C) NNPyp (D) NNPpg L—

15 1T, 2015 ! Sefied Sz — fag uie
e Mieg &1 fasiar =4 o1 2

(A) &. Hfrwa “—

(B) iy fog

(C) =R gut
t—wmm

59. wHIfsHl, gadl MR orEdt st T H
e Afeat 8 2
(A) HEMG

(By PN
(C) wEA L

(D) e
1857 &% Yu9 wWaIdl fagg ¥ W @9 aref
i Afge rdsar QA 1 off 2
(A) HEqar e
(B) HiehTeit T
(C) R g
THE e § SHEEH, WeaH % fhdl d
Ha@ fhean o & 9 A gl et
2 ‘
o e
B
(©) am
AD) ImaH
62. YU & TR oMf¥F Forawm TN F fow
__ Hied Wl IMumYd "EA 3R
- FaTd grfior i § w1 S T S W@t
7
(A) WETAAISH

JB)/EU PURA) \
(C) Tieftaret
(D) TA.WS. (LPG)
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60.

61.
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63.

64.

~ 65.

66.

67.

68.

@

Which country has recently conducted the
fourth successful test of a new Wu-14
hypersonic strike vehicle capable of delivering
nuclear weapons ?

(A)
©

(B)
(D)

China
U.S.A.

India

Russia

is used to convert mechanical
energy into electrical energy.

(A) - (B)
© (D)

Dynamo Microphone

Electric Motor Battery

Which one of the following countries is in the
second place in the world in producing paddy ?

(A) China (B) U.SA.
(C) Russia (D)  India

has been honoured with the ‘Best
Welfare Organisation of the Year, 2015’
award.

(A)
(B)
©)
(D)

Indian Community Welfare Organisation
Indian Railway Welfare Organisation
Smile Foundation

National Union of Seafarers of India

Who amongst the following was known as
“Loknayak” ?

(A) C.F.Andrews

(B) Jayaprakash Narayan

©
(D) Ashutosh Mukherjee

Chittaranjan Das

Almost half of India’s population lives in just
five States. Which one of the following is not
one of these five populous States ?

(A) Bihar
(B) West Bengal
(C) Kerala

(12)

(D) Maharashtra

INDIRESULTE

¥Y¥OUR SUCCESS PARTNER

(@) woire
QS-2 :

63. Wé’rﬁ%&r%ﬂﬁmwu-uaﬁwmw
I H =T THA TG0 R S owE e
e i § T 2 2

PAR

AR T ey o=
© ®F (D) FTET

64. FiH Sl HI AP Sl § AR T F 1T
. wmwEmfEm e g

&) TEAH T (B) UEHBN

(©) forgq AR (D) s

frafafes & @ #98 29 = S9r § 9m

IS § gHT T R 2

& < - A8 F Y.

(C) &4 —D) ¥Rqa,_—

65.

q¥ 2015 % HAH HeAN T GEEHR F
! TG TR T |

B gféaﬂaéaaﬁ»—qtanﬁq@m
(C) A BIRSIH
\_AD) T IR T i a1 gfoea

66.

67. fafafgs 4 & foos “Soms’ F &9 3
ST AT 97 2

A) H.TF. TgIF

< (B SN A —

) Too==eTm

(D) ITRA gt

aRd st W et SeEes 5 uie U §
T 2 | Fefafes § @ 5955 = w= o= o=
TGS 9T TS B ¥ T7 R 2

A far

(B) ufvem s

e B

(D) HIW™E
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69.

70.

71.

72.
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Who amongst the following was the leader of| 9. Fafafea & & #9 7Y & $uHh AT T
the Peasant Movement of Awadh ? AT o1 2
(A) Baba Ram Chandra (A) W€ TH T \/

(B) Mahatma Gandhi (B) WgTeAT it

(C) B.R. Ambedkar (C) .3, srga

(D) Alluri Sitaram Raju s 3Tt " T

Who amongst the following is the current |70, freafafes § @ 9 sdom & fava ¥ =t
President of the World Bank ? JETT B 9

(A) Jim Yong Kim A g g ey

(B) Lewis Preston —~+B) g Y=

(C) Barber Conable (C) _WTeR ssa

(D) Paul Wolfowitz >€({ uiet Slepifaest

Mushrooms are an example of 71. TIEY fhEs 3qI8T % 7

" (A) Virus (A) dEE (ﬁtmﬂ) * P
(B) Lichen B) T (3%) * l'i
(C) Fungi € Bl (FaF) H L /r/
(D) Bacteria SFdifa (Sframy) =+ '
From which country has Delhi Metro received | 72. et ﬁ'gff H AT Uy @33’(1'%6 W
its first driver-less train ? 55 29 9 9w §§ ot 2
(A) Russia (B)  South Korea &7 g B) <o wifer L—
(C) France (D) USA C) wig (D) I THT.

73.

74.

75.

@

The first two States in India that established
Panchayati Raj were

73.

9 H TERd T el S0 el vuw @ asy
A Y 2

(A) Rajésthan and Maharashtra -/O)( TS 3 RS

(B) Rajasthan and West Bengal (B) TSy 3R yfym st

(C) Rajasthan and Andhra Pradesh (C) TSN 3R 31y wesr -

(D) Rajasthan and Punjab (D) TSI 3R dorre

The percentage of the Earth’s surface covered 74. URG 3 gt ¥ gUaA F] ﬁ:ﬂq‘r gfesra =1 g
by India is 2°

(A) 34 (B) 44 (A) 34 (B) 44

(C) 54 D) 24 (C) 54 CR(B O Ye o e

The capital of Kalinga (the eastern province)
during Ashoka’s invasion was

(A) Taxila (B) Patliputra
® (C) Ujjain (D) Toshali
INDIRESU

YOUR SUCCESS PARTNER

75..

mﬁﬁ%anm%ama?%n(ﬁm)ﬁ
TSt S oft 2

A) aefrer /(’B)/‘TIEFﬁHBI
(C) I (D) aremet L
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76. Which dialect is being spoken in Rohilkhand | 76. HA-E IouTE TS % gieert 9o — Ufger@vs

and the upper Doab — the western parts of the iR 3uft e, T el St 8 2
state ? (A) W_Eﬁ
(A) Bundelkhandi (B) @ A
(B) Khari Boli ‘ ()
() Awadhi A (‘ SIS T

(D) Braj Bhasha
77. What are the governmental bodies at the 29

Tehsil level called ?

(A) Panchayat Samitis

(B) Gram Sabha

(C) Gram Panchayats

(D) Municipalities

78. Which is the most populated city of Uttar 78. 2011 H S % AFHR It ST BEE]

Pradesh according to the 2011 Census ? e SHEE FTe TR B R 2
(A) Kanpur &) FER L
(B) Lucknow “(B( S
(C) Aligarh (© e
(D) et

(D) Bareilly

79. As per the report of C. Rangarajan submitted | 79. @A | 1 %’r’;{ iR ED) & | Tl'§
to the Central Government recently, any o, TR W fure & AJEN, EIH =feh I

person spending over ¥ in rural T &1 7 2 o e @9 Hal
areas should not be considered poor. 2, 30 ThE TE FHLAT L |
(A) 32 M SR
(B) 43 2o (B) 43
! (C) 50 ] (C) 50
.
6:/‘9 INI ﬁ):i ‘ 26 ULTE indir((egl)lt.if (3vhatsapp - 9352018749
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80. From which of the following towns of Uttar [80. 3T{ wew & Frafafed st § & feew dfaa

Pradesh are maximum brass exports done ? 3Gl T Iferhan frata forar smar 2 2
(A) Moradabad \Q/Wﬁ b

(B) Varanasi (B) @Ot

(C) Kanpur (C) HHYL

(D) Lucknow (D) WETS>

81. Uttar Pradesh is divided into how many gy 3qv gy oy frell o a2 2

districts ?

@ 75 — 75\
(B) 85 B) 85

© 95 © 95

(D) 65 (D) 65

82. Under the Ambedkar Vishesh Rozgar Yojana |82, r=igst fasiy USIR ASHT (AVRY) & 3F=id,

(AVRY), the unit cost of the project will not be ofEeAT i T A ¥ #q T8
lower than e
(A) T 60,000
(A) ¥ 60,000
(B) ¥ 75,000

_BY % 75,000

(C) < 1,00,000

(C) < 1,00,000

(D) ¥ 50,000
D) % 50,000 L
83. The , Sultanpur has taken the
initiative to resolve the problem of centralised B coss B RAEEL 1 Tl Fifeht At
database for the efficient working of the social Eal PIA FRIYOTE % o W srewd
forestry scheme. T T GHTIH HH H! T8 I 7 |
(A) National Sample Survey Organisafion v A T fdesl FEEwr H1ST
(B) District Industries Centre ®) e sam g
(C) Regional Rural Bank () &g arfior
® (D) National Informatics Centre ~B T T &% (ﬂ"iﬁ?{ TR ﬁa)‘\/’_

A

6{// INDIRESULTE indiresult.in whatsapp - 9352018749

YOUR SUCCESS PARTNER



\

S

\‘

\

N

C
indiresult.in whatsapp - 9352018749

84. Where are the headquarters of the North
Central Railway located ?

(A)
(B)
(©)
(D)

Jhansi
Allahab_ad
Ghaziabad

Agra

85. Which is considered as the oldest city of the

world located in India ?

(A) Kushinagar

(B) Varanasi

(C) Agra

(D) Sarnath

86. districts are famous for leather

goods.
(A)
(B)
©
(D)

Agra and Kanpur
Sonbhadra and Allahabad
Jaunpur and Ramnagar

Moradabad and Lucknow

What is the ratio in which the Indira Awaas
Yojana (IAY), a Centrally sponsored ‘scheme,
shares cost with the State Government ?

(A) 80:20
(B) 75:25
(C) 66:34
(D) 90:10

87.

Which one is the record of land cultivation ?

(A) Girdawari

(B) Panchnama

(C) Jamabandi

°, (D) Khatouni

(
INDIRESUL

(16)

84, ITLHE YA 1 JEITTT Hal f&4d B ?
(A) =
By TEEER L~
() wfsErETe

(D) AT

i § o fem wex = fava &1 @98 g
& T AT 2 2

FIR

st

AP

85.

(A)
«AB)
(©)

_&D

ge. =me H IEgel & forw wfag Fw
g

(B) HM¥g 3R ARG

(C) SHYE 3R THFFR

(D) TEETE IR &S

AT

e FEE A (AY), S T Hg gurid
A1 -2, F TG FHR F T1Y AN HgWeH
JUTd T8 ?

(A) 80:20

7 75:25 "

(C) 66:34
Q/GB) 90:10

87.

88. Y- 1 fplé F-ATR ?
@A) fread "

(B) U=l

(C) HTE!

B g
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89. What proportion of a bigha is one biswa ? 89. T fowan i1 U e § FA HUW 2 2
(A) One-half (A) 3ATHEn
(B) One-fourth (B) TS
(C) One-tenth o

(C) Uh-cHdl
(D) One-twentieth 2
) Weh-sflEar v«
90. 1 acre is equal to how many square yards ?
(A) 4840 90., 1UHg fohaq ol 7T & ST BT @ 2
(B) 2025 /(7)(4840 L
(C) 4425
(B) 2025
(D) 3025
(C) 4425
(D) 3025
91. What is the full form of NREGP ?
(A) National Rural Entrepreneurship
Guarantee Programme 91. TH.HFRE.S.A. (NREGP) %1 qUT &9 &1 3 ?
(B) National Rural Education Guarantee (A) TS Ty Ifar T S
Programme
(B) TS oy T3 et Hrishn
(C) National Rural Employment Guarantee
Programme W reftor YSATR T Sheishd L
(D) National Regional Employment (D) TS T ST T hrishd
Guarantee Programme ‘

92. According to Indian Public Health Standards 92. Torem sreamert % forg '“.[E“El Al Te I|'F|T=|$T
for District Hospitals, every district having a & SFER, 10 g SHEEA et g et d
population of 10 lakhs should have at least FA-3-% forae feeat g9 =fey 2
how many beds ?

(A) 195
(A) 195 Py
4By 300 -
(B) 300
« (D) 50 (D) 50
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What incentive is given under the subsidy

scheme for Domestic Individual Solar Water
Heater, in the State of Uttar Pradesh ?

(A) Tax concession

(B) Rebate .

(C). Tax exemption

(D) Discount

What is the main commercial crop of Uttar
Pradesh ?

(A) Wheat

(B) Sugarcane

(€)= Corn

(D) Rice

A gram panchayat consists of how many
members, elected from the wards of the

village, who are called “panch” ?

(A) 5to20

B) Ttol7

(C) 10to20

(D) 5to9

The appoints the Chief Justice of
the High Court of Uttar Pradesh.

(A) Prime Minister

(B) President of India

(C) Chief Justice of the Supreme Court

(D) Governor

IRESULTHE
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R ST G e dex & forg s s
o F A I TeW TST H FAT WHrE
fémm ST 2 2

a) = fEmEd

® T

(C) W YRE
/€D>/¥

93.

94, IR TV FI Y@ AGHTS HHA F1 8 ?
* el
(C) #==I1
(D) &
95. TH UM Y9EA ¥ AW F et & I g R
T B &, e ‘o= w2 2
@ 5820
7%17\/

10® 20
589

(B)
©

(D)

96. I W F I= AWEE F GEI AR H

fafs__ waIR |
(A) wEH HAl
—®) w1 TR
(C) Hal= TR H §Ed A&
(D) TSAITA
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There must be a minimum of how many gram

sabha meetings in a year in Uttar Pradesh ?

(A)

3
(B) 4
(C) 6
(D) 2

What is the minimum age limit for a person to
be a member of the panchayat ?

(A) 21years
(B) 25 years
(C) 35 years

(D) 18 years

How
Programme,

Mid-day Meal

assessment of

under the
should the
percentage of underweight children at school

often

level be done ?
(A) Half-yearly
(B) Quarterly
(C) Yearly

(D) Monthly

In case of material component under
MGNREGA, the funding is done by the
Central and State governments in the ratio of

(A) 100:0
(B) 50:50
(C) 25:75

D) 75: 25

INDIRES
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97.

98.

_ABT

99.

¥

(#)WoiReS UL

C
S YW H TH 99 H =qaw TRt am wwn
3 (Hifem) B =nfed 2
(A) 3

¥k

) 6

il T

T Ffth & [T G919d 1 T s shl =Faw
o1y Himr ferat B 2

919y L—"

(B) 259§

(C) 35a8

(D) 18§ o~
TeATE IS $EHA & =1, faened & ®

F= % AR HI Sfawadr w1 ke foRd
gt W foram I =nfew 2

(A) aﬁmﬁaa\/

A

(C) ¥

/D) iR

100. TH.S{.TH.37R.E.S.T. (MGNREGA) & 3f=did

mﬁﬁm%w@rﬁ,haﬁtmmﬁ
g1 fope e fftestor w1 eumE
BT |

(A) 100:0
(B) 50:50

(C) 25:75

\m5:25 N
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9.

REXD THE FOLLOWING INSTRUCTIONS CAREFULLY :
1. Out of the four alternatives for each question, only

one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not
liable to be changed.

. The candidates should ensure that the Answer Sheet

is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.
Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet Number and Answer Sheet Number),
another set will be provided. .

The candidates will write the correct Test Booklet |

Series and Number as given in the Test Booklet in the
Attendance Sheet. .

Candidates are not allo@ d to carry any pencil,
textual material, 'printerg,oé written, bits of papers,
pager, mobile phone, electronic device or any other
material except the Admit Card inside 'the
Examination Hall/Room.

Each candidate must show on demand his / her Admit
Card to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his /her
seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed and put his/her left-hand THUMB impression
on the Attendance Sheet will be deemed not to have
handed over the Answer Sheet and dealt with as an
unfair means case. The candidates are required
to put their left-hand THUMB impression in the
space provided in the Attendance Sheet at the
time of handing over their Answer Sheet to the
Invigilator on duty.

Use of Pencil/Electronic/Manual Calculator
prohibited.

is

10.The candidates are governed by all Rules and

Regulations of the Department with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Department.

11.No part of the Test Booklet and Answer Sheet shall

be detached under any circumstances.

12.0n completion of the test, the candidates are

allowed to take away this Test Booklet and the
Candidate’s Copy of the OMR Answer Sheet with
them.

13.The OMR Answer Sheet consists of three copies, the

Original Copy, the Office’s Copy and the Candidate’s

i

10.

11,

12.

13.

JAfShd A & o1E 3T g1 &I AT Fhal 7 |
wdeneff giifeaa = % 3@ W = = 9@ 7 9
Td 39 W HIE 3 o 7 @md | gdemeff oo
%éammwﬁﬁﬂﬁaw%aﬁﬁ?ﬁmaq
| ,
eS| T IW T H T W,
CHIED ft ofifcafa & (Saer wliam
T I 0 I ge § e f ol w )
gad vhe gfeae Suoey a1 SO S |

e o & ¢ ghen g @S 3 T@ #
Thenel Tt A @ wh-u & RS |
qhaef ZT ThET Te/EE § AR ¥ Rew

5 wer i @, wea @weh, gtd =
Faffgd, $Ue $I uEEl, 99K, AeEd BH,
31 39H I1 Rl 3 YR 6 gl B @
I A7 3T HE A FES T8 2

P® M R & e, fias 1 s w@n-as
feard |

Fefiess @1 Fdes H @y safe & famr #8
et 9T TUE T B |

s Fgs H v I 93 e o odenef
W ga T oren | Ak fedt wderff 3
FIT-u3 T gEaner TE fopu 3t aTd 719 % TS &
e =8 e @ 7' A Sen R osEs s
T dter™n ? 3R FE gfud TEd &1 AHAr /A
Eico
gfteneff srar ad g1y % SfE w fvma o
fememwammem |
g%a@ﬂaﬁﬁmvﬁmﬁmwaﬁh
l

qhten g d e & fou qheneff fawm & w@ft
ot wg faffadt g fafim € 1 ofea e &
aft amel %1 Buen faum F @ e %
3131?“3‘!’11[

../, IR 97 h A7 vfaat €, ge ufa, i

L

~

N\ /“>

Copy. Do not separate or displace them. Invigilator yfey wa whenef afq | 32 wafv /e 7 = | w&
will separate the three copies carefully affer the e qham 89 & T gfgt
examination is over and hand over the Candidate’s ¢ %
Copy to the Candidate and seal the Office’s Copy in a Wl I | U1 o wrarefl Sﬂ%?@t Ll 3 37
Separate enve]_ope_ m ﬁ m gﬁ q’ﬁ ?ﬁa E T8 éﬁ |
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